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Unfolding of the inborn, innate abilities of a person along
with age is called

1. Growth

2 Development
3. Maturation
4

Readiness
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The process that is continuous and cumulative is ...........

1 Growth

2. Development
3. Heredity

4 Maturation
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Quantitative change is ...

1. Growth

2. Development
3. Maturation
4. Heredity
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Stanley Hall identified this stage as ‘emotionally instable’

1. Babyhood

2. Childhood
3. Adolescence
4. Old age
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The Psychologist who explained about incorporation,
accommodation and schemata

1. Vygotsky
Chomsky
Jean Piaget

Kohlberg
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The level at which children judge morality on the basis of
physical punishment

1. Pre-conventional

2. Conventional

3. Post-conventional

4. Democratic morality
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Name the Psychologist who proposed that children by birth
have the ability to grasp universal language principles

1. Piaget
2. Vygotsky

3. Chomsky

4. Skinner
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The first stage in Erickson’s eight Psycho-social
developmental stages is

1. Trust Vs Mistrust
Initiative Vs Guilt

Industry Vs Inferiority

el

Autonomy Vs Shame
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The concept of ‘Emotional intelligence’ was proposed by ....

1. Alfred Binet

2 Daniel Golman
3. Howard Gardner
4
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10.

11.

The concept of ‘Intelligence Quotient’ was first introduced

1. Binet

2 Simon

3. William Stern
4

Terman
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The ability of an individual to develop satisfactory
relationship with the environment is ....

1. Personality
2. Adjustment
3. Intelligence
4. Attitude
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Sociometry was first used by
1. J. L. Moreno

2 Sheldon
3. Kreshmer
4

Erickson
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The change in behavior in an organism due to experience and
training is .....

1. Development
2 Maturation

3. Motivation
4

Learning
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14.

15.

The aim to reach higher level of goals is related to ...
1. Learning styles

2. Aspiration

3. Readiness

4. Achievement motivation

éé&eﬁigow S50 SEHEFO I 0550 RIS
D022000DIR

1. QEIOD 39
2. e35°0%
(9%
3. DOVEES
(o]
4. JES (8
Name the theorist who proposed when the number of Trials

increases the number of errors decrease and thus learning
happens -

1. Pavlov

2 Skinner

3. Thorndike
4 Kohler
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16.

17.

In Pavlov’s experiment, the dog’s salivation after
conditioning is called

1. Conditioned response

2 Natural response

3. Higher order conditioning
4

Unconditioned response
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“Instrumental conditioning” is also called as .......
1. ‘S’ type conditioning

2 Classical conditioning

3. Higher order conditioning
4

Operant conditioning
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18.

19.

Name the Psychologist who spoke about “Zone of Proximal

Development”

1. Hurlock
2 Bandura
3. Chomsky
4 Vygotsky
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A student is drawing a picture to satisfy himself. This is an
example of

1.

2
3.
4

Intrinsic motivation
Extrinsic motivation
Achievement motivation

Social motivation
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20.

21.

The ability of an individual to store his experiences in the
brain and recall them into his consciousness whenever
required is

1. Memory
2 Recognition
3. Retention
4

Learning
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When a learnt material ‘A’ interferes with present learning of
material ‘B’, then the interference is called -

1. Retro active inhibition
2 Passive decay

3. Repression
4

Pro active inhibition
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22.

23.

An individual who has learnt cycling, easily learns to ride a

motor cycle. Itis

1.

2
3.
4

Positive transfer
Negative transfer
Bilateral transfer

Zero transfer

236 K Lo I Rooiore Ired PISH SEHE0

36&3567@&3. 38

1 0ET® 22C5eTP000Y)
2 (@POETO 228ePa00Y
3. &ogir’ci_gs 2285eT°P000%)
4

%5%‘65 2283TPQ0Y)

The field of vision of blind persons is

1.

2
3.
4

below 20°
between 20° to 40°
between 40° to 60°
60° to 90°
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24.

25.

Name of the Psychologist who opined that learning is
‘Construction of Knowledge’

1. J.B. Watson
2 Bandura

3. Bruner

4 W.C. Bagley
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Name the programme / project that was intended to give
quality education to children between the age group of
14-18 years.
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Name the State which is exempted from Right to Free and
Compulsory Education

1. Jammu-Kashmir
2 Bihar

3. Uttaranchal
4

Kerala
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The classes included in ‘Elementary Education’ are ......
1. 1 to 5" classes
2 1 to 8" classes
3. 1 to 10™ classes
4

1 to 12" classes
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28.

29.

Child Rights in India are applicable to the following age
group of children

1. day of birth to 6 years
2. 6 years to 14 years

3. below 14 years of age
4. below 18 years of age
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The type of Education where teaching learning programme is
imparted to children with special needs along with normal
children in the same school is ..

1. Special Education

2. Integrated Education
3. Inclusive Education

4. Non-formal Education
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30.

In CCE, if one is Summative evaluation, then the other
evaluation is

1. Diagnostic evaluation
2 Qualitative evaluation
3. Quantitative evaluation
4 Formative evaluation
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43.

44.

45.
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61.

62.

63.

They ran through a secret passage to market.

Choose the meaning of the word, ‘passage’;

1.

2
3.
4

Choose the word that refers to ‘a number of players’.

Lol

A lengthy text
A long narrow way
A paragraph with sentences

A journey

Play
Class
Team

Bench

Choose the word with a ‘suffix’.

Lol

Child
Childhood
Discourage

Illegal



64.

65.

66.

Choose the word with correct spelling.

Lol

Choose the word that can be used as a noun and a verb.

Lol

Whispering
Scater
addresing

Gaint

Truth
Great
Mind
Faith

His disability came as a rare occurrence.

Choose the antonym of the word ‘rare’.

1.

2
3.
4

Common
Special
Particular

Desired



67.

68.

69.

I came across Ramu at the shop .

Identify the meaning of ‘came across’.

1. Talked to someone.
2. Helped by chance.
3. Met by chance.

4. Met purposefully.

It may be true.

This sentence means;

1. It is possibly true.

2. It is certainly true.

3. It is undoubtedly true.

4. It is not true.

Yesterday [ saw .............. one eyed man.

Choose the article that fits the blank.

1. a

2 an

3. the

4 No article is needed.



70.

71.

72.

The passengers started to shout ........... the driver.

Choose the correct preposition that fits in the blank.

l. on

2 by
3. at

4 with

Mohan who is my English teacher always buys new books.

This sentence has;

1. A defining relative clause.

2 A non-defining relative clause.
3. A noun clause.

4 A conditional clause.

I did everything I could do.

In the above sentence ‘could’

1. indicates politeness.
2 indicates submissiveness.
3. is the past tense of ‘can’.
4 is the present tense.



73.

74.

75.

They live in England.

Choose the correct question tag for this sentence.

1. didn’t they ?
2 doesn’t they ?
3. do they ?

4 don’t they ?

It is quite near

This sentence ends with;

1. a full stop
2 a question mark
3. a comma
4

an exclamatory mark.

“What’s your name, boy ?” said the gentleman.

Choose the reported speech of this sentence.

1. The boy said that he was a gentleman.

2 The boy asked the gentleman what was your name.
3. The gentleman said that what is your name.

4 The gentleman asked the boy what his name was.



Good news .......... always welcome.

Choose the correct form of verb that fits the blank.

1. will

2 are

3. is

4 have

It was raining when we ................ the station.

Choose the correct tense form that fits the blank.

1. reach
2 reached
3. reaches
4 had reached

Let me tell you the story.
The part of speech of the word ‘me’ is;

1. a noun

2 a pronoun

3. a preposition
4

a conjunction



79.

80.

1.

Choose the linker that can indicate results.

1. Equally

2. To sum up
3. Therefore
4. Furthermore

Choose the subordinate conjunction from the following.

1. neither ... nor
2 since

3. yet

4 and

Choose the grammatically correct sentence.

1. Neela has eaten the mango yesterday.

2. Neela ate the mango yesterday.

3. Neela has been eating the mango yesterday.
4. Neela had eaten the mango yesterday.



82.

83.

&4.

Choose the correctly punctuated sentence from the following.

[S—

she said I am hungry.

2 She said, I am hungry.
3. She said ‘I am hungry’.
4 She said, “I am hungry.”

Choose the sentence in passive voice.

1. Trespassers will be prosecuted.

2. What are you doing here ?

3. My own garden is my own garden.
4. We can play on the road.

Chitrais ............. singers in Tollywood.

Choose the correct expression that fits grammatically.

1. one of the greater
2 one of the greatest
3. greater than
4

as great as



85.

86.

87.

The expression used at the end of a letter addressed to a
friend is;

1. Lovingly your
Yours lovingly

Your’s lovingly

Lol

Your lovingly

Choose the list with correct alphabetical order.

1. tool, tooth, too, to
2. tooth, too, to, tool
3. to, too, tool, tooth
4, too, to, tool, tooth

He looked at me frantically.

Choose the synonym of the word, ‘frantically’.

l. Skillfully
2 Anxiously
3. Steadily

4 Softly



88.

&9.

This girl strongly believes ............ God.
Choose the correct preposition that fits the blank.

1. on
2 in
3. into
4 over

Read the following passage and choose the correct
answer to the question.

One day a guru foresaw in a flash of vision what he would be
in his next life, so he called his favourite disciple and asked
him what he would do for his guru in return for all he had
received. The disciple said he would do whatever his guru
asked him to do.

The guru was able;

1. to create a disciple

2. to foresee his next life

3. to see his favourite disciple in a dream

4. to foresee what his disciple would be in his next life



90.

Read the following passage and choose the correct
answer to the question.

One day a guru foresaw in a flash of vision what he would be
in his next life, so he called his favourite disciple and asked
him what he would do for his guru in return for all he had
received. The disciple said he would do whatever his guru
asked him to do.

Choose the true statement from the following.

1. The guru would become a disciple in his next life.
2. The disciple would become a guru in his next life.
3. The guru gave a great gift before dying.

4. The disciple was an obedient person.



91.

92.

93.

The security staff ushered the minister into the building.

Choose the synonym of the word, ‘ushered.’

1.

2
3.
4

Controlled
Escorted
Continued

Retorted

There are many delightful things in the park.

Choose the opposite word of ‘delightful.’

1.

2
3.
4

Adequate
Meaningful
Unpleasant

Appropriate

Choose the word with correct spelling.

1.

2
3.
4

Simultanious
Presense
Moustache

Persistance



94.

95.

96.

97.

Hemant is not sure about the existence of God. He is ;
1. a mercenary

2 an agnostic

3. an honorary

4 a theist

I can get along with all my classmates.

Choose the meaning of the phrasal verb, ‘get along’.

1. Have competition

2 Have friendly relationship
3. Have rivalry
4

Have no competition

I will never set foot in your house.

Choose the meaning of the expression, ‘set foot’.

1. Sit

2 Work
3. Spend
4 Enter

Choose the incorrect expression with respect to the
collocation of words.

1. Thatched roof
2 Unsafe roof
3. Y oung roof

4 Slippery roof



98.  Today, Madhu has a viva voce exam in his English subject.

Choose the meaning of ‘viva voce’ in the above sentence.

1. A meeting

2 A spoken exam

3. A talk with a classmate

4 A competition in essay writing
99. Ilike reading .......... poetry.

Choose the article that fits the blank.

1. a

2 an

3. the

4 No article is needed
100. We should abstain ....... evil and do good.

Choose the correct preposition that fits the blank

1.

2
3.
4

from
with
to

an



101. Servants ............ are honest are trusted.

Choose the word that fits the blank.

1. whose
2 who
3. whom
4 which
102. “You are bigger than ........ animal in the forest,” said the fox

to the elephant.

Choose the correct expression that fits the blank.

1. most other
2. many other
3. any other
4. one another

103. May I go out now?

This sentence indicates.

1. granting permission

2 giving permission

3. taking permission

4 sanctioning permission



104.

105.

106.

She didn’t leave this place.

Choose the correct question tag for this sentence.

1.

2
3.
4

didn’t she ?
did she ?
doesn’t she ?

isn’t it ?

“I’ll tell you the whole story,” said the man.

The reported speech of this sentence is;

1.

2
3.
4

The man asked to tell him the whole story.

The man said that he would tell them the whole story.
The man will tell the whole story to the boy.

The man said if he would tell them the whole story.

Choose the sentence in passive voice.

1.

2
3.
4

I have to distribute food.
She had food to distribute.
Food was distributed free of charge.

He has fought as good fight.



107. Look ! The crow......... on the tree.

Choose the correct tense form of the verb that fits the blank.

1. sat
2 was sitting
3. is sitting
4

sitting

108. Sudha Murthy ............ an interview in Pune several years
ago.

The verb that fits the blank is;

1. attended

2 attends

3. will attend
4

does attend

109. The police .............. caught the criminal.

Choose the correct verb that fits the blank.

1. have
2 has
3. are
4

1S



110. Choose the expression with the correct order of adjectives.
1. Beautiful a red umbrella.
2 A umbrella red beautiful.
3. A beautiful red umbrella.
4

A umbrella beautiful red.

111. Seeing the snake, she fainted.

This is ;

1. a simple sentence

2 a compound sentence

3. a complex sentence

4 a compound complex sentence

112.  Your love for her will save her.

Choose the part of speech of the word, ‘love’.

1. An adverb of time

2 An adverb of manner
3. An abstract noun
4

A proper noun



113.

114.

115.

116.

Choose the grammatically correct sentence.

Lol

When you saw the movie?
When did you saw the movie?
When do you saw the movie?

When did you see the movie?

Choose the sentence with correct capitalization

punctuation.

1. Who did Gopi marry, she said.

2. Who did Gopi marry, “She said.”
3. “Who did Gopi marry,” she said.
4. “Who did Gopi marry?” she said.

A news report begins with;

Lol o

a heading
a signature
a date

an image

Choose the list of words with correct alphabetical order.

1.

2
3.
4

cannon, canopy, can, cot
cap, capital, canvas, canteen
block, bloat, ball, bull

bag, baggy, ball, bull

and

































